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10.

11.

12.

13.

14.

15.

Tichd aal, TE T, &l ¥ e ¥ 2l

(1) wmh et (2) feptem % (3) TAR "SR (4) faa Te|
T gt & T Frderk A ‘fafafad woren’ feen o1 fadem fban @2

(1) T =gl (2) HR1 RR (3) <o Hea (4) TS ==
frefafed § @ =01 s W wH st fawen 76 82

(1) iOS (2) = (3) Trerert ORERE

G/ Frderer/fmfay i erfie okt & T g fosiar s SE%a (3) %1 ¥ M T,
S =t H Tk HEWsiiel IRAE-3WRen! Sl & €9 § 39 S & aredfosh sTeel R sTeiia
27

(1) = sHi= (2) T SR (3) ARR S (4) St ATE @i 5@
frefafea & @ ffg e &1 T9h 5 9N &1 Ean fave elie] vl wifvd fwar @2

(1) feeeit (2) g=% (3) STEHIER (4) aToTEt

feomn’ # wh e 2l

(1) deh (2) e (3) el (4) s

TaraR-fegwer 2017 # Hicie & fae® Twikada fhee Jeen & fau e IRda 3W &1 wae a-mn
T T?

(1) fore wigett (2) RreRr yam (3) gt T (4) fea wmf
frefafed § 9§ fore oee 3 freal #1 qewen ot foret 272

(1) W= % (2) v Stg| (3) e efHa (4) T8 TRE
TR & qeadl (qS) Sl ol q&d Ygueh ¢

(1) it ¥ 9 1 foewa (2) TRE 7 S

(3) WA (4) refier oo

fefstea safdm o 4K fefeqem &1 ared g @

Q) feot R 2 BEA! (3)9@'&[ (4) T (aot)
TS % M FEtied 9§ 9 g eg T o ged geeaeie g 87

(1) 100-500 Hz (2) 1-2KHz (3) 10-12KHz (4) 13-16KHz
‘geeE’ wEEE H fEE et & o i W fee @ firw 20 @ wE g 22

(1) ¥H HiFw (2) HH "R (3) fiier & (4) w1 fam

2016 % TaRet e AfqaH & <RE MR T 51 fohd 391 W TAEl § gEdey s i SR
ST T 7

(1) I HIfE (2) &5 (3) T (4) <hfs=n
IRd TR 1 ‘IAA’ o GA T Je1 B

(1) @ &R fafa (2) arfor e (3) famanm (4) A9 dA
TREN 1 FEE WS e CHifen’ qRd % e T o frem @2

(1) e ARSIES T (3) RIS (4) wfvTgR
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10.

11.

12.

13.

14.

15.

Falcon Heavy, SpaceX, Tesla are names associated with .
(1) Mark Zuckerberg (2) Nicola Tesla (3) Elon Musk (4) Bill Gates

Which director of Indian origin directed the film *Mississippi Masala’?
(1) Gurinder Chadda  (2) Mira Nair (3) Deepa Mehta (4) Tanuja Chandra

Which among the following is not a smart phone operating system?
(1) i0S (2) MeeGo (3) Galaxy (4) Android

Which is the Emmy-winning Netflix show by writer/director/producer/actor Aziz Ansari, based
on his real-life experiences as a struggling Indian American actor in New York?
(1) The Immigrant (2) The Outsider (3) Master of None (4) Jack of All Trades

Which among the following has been declared as India's first world Heritage city by UNESCO?
(1) Delhi (2) Mumbai (3) Ahmedabad (4) Varanasi

‘Hilsa’ is a variety of .
(1) Frog (2) Fish (3) Crab (4) Prawn

Who was named as the captain of the Indian Team for ODI cricket series against Sri Lanka in
Nov.-Dec. 20177

(1) Virat Kohli (2) Shikhar Dhawan  (3) Yuvraj Singh (4) Rohit Sharma
Which one of these writers also wrote movie screenplays?

(1) Franz Kafka (2) James Joyce (3) Ernest Hemingway (4) Marcel Proust
The main pollutant of the Indian coastal water is :

(1) Oil Spill (2) Municipal Sewage (3) Aerosols (4) Industrial effluents
4K resolution in digital imaging refers to .

(1) Display size (2) Pixels (3) Luminosity (4) Colour

Human ear is most sensitive to noise in the frequency range.

(1) 100-500 Hz (2) 1-2KHz (3) 10-12KHz (4) 13-16KHz

Which American TV actress from the show ‘Suits’ is now engaged to be married to Britain's
prince Harry?
(1) Megan Fox (2) Meghan Markle (3) Miranda Kerr (4) Meg Ryan

During the 2016 US election campaign, which country was accused by the US administration of
interfering in the elections?
(1) North Korea (2) Russia (3) Iran (4) Libya

Govt. of India’s ‘ShaGun’ web portal is associated with
(1) Export & Import.  (2) Rural Electricity.  (3) Education. (4) Drainage System.

Asia’s cleanest village ‘Mawlynnong’ is in which Indian state?
(1) Meghalaya (2) Sikkim (3) Nagaland (4) Manipur
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16. frdt R SR 1 TH FR & Afhd oI W 20% B2 e i 31 T AN T 25% A1 I Sl
21 A% <R w1 AR 24,80,000 ® @ FR w1 3ffehd god fha 22

(1) %6,00,000 (2) 26,18,000 (3) 37,20,000 (4) ¥7,50,000
17. =% Tt Sow o goul § wfigens & U 4:12 O 39 95% | fohad wiaw oafe geW €2
1) 20% (2) 25% 3) 33%% (4) 80%

18. 3200 % 7% gfaerd & 10 yfawrd &1 99 foan sm?

(1) 24 (2) 240 (3) 25 (4) 250
19. ABHl w89 2; C,BHI Wi &; D,Cohl fudi @ 3N E, Dkl W 81 ASIDH =1 fiwar 872
(1) e (2) TeaX (3) &2t (4) Teeix

fder (www 20-23). 3 WA & SW W & fAw A & T gE w1 SwEh

A a=d foRdt S R 11 STer-Tel W & M 9el W'l 3 11T B ¥ WR W €, 3 o €, < A
g 3R T B T A TH Th-gR  IFA-ae B ATl TH TH-O % S-S 21 el S Th-gE
- el 21 St % Tk i W T o g 3R g i W T B4 T 2
20. A B3 3R Ts M et © IR qHal M At © df Frefefed § @ @ orevd w72

(1) TH0 <A B R (2) wi=a g den ©

OECE GRS (4) T B0 <A, Th G TH & 9% (3el) ©

21. IR 9K Wet I TH-TW H 3k 9] § IR AR qWar 0 fren @ A FreAfafed ¥ ¥ wH-9 e
7Y el Brm?
(1) =i AREE (3) et (4) Fre

22. 9f€ gi=d 3R B3 g At € MR e g ot € df Frefafeoa § @ o eewg @& gm?
Q)R I H ¥ TH, Th A IH & Jh 9% () §
(2) @ TA H ¥ TH, Tk & IH & Ih q% () 7
(3) T el <M1, HH W HH Tk 34 Ul I % Sl 1% (Se) ©
(4) TS TEAT el @

23. 9 T B IEI, TF oA I o ek 915 (SWTeT) 7 IR EA & M, Th et I o ek 5% (W)
g i freafafea § 9 @ sfevg el 82

(1) S A e @ (2) =hen < BW @

(3) =iten g e @ (4) Trei AT el ®
24. (288.5 x 30) — (30 x 288) — (28 x 15.5) + (15 x 28) T HH BN :

(1) 14 ) 1 (3) 12 (4) 430.5
25. = fou T SeRl % %H H Wel WA W HiA-9 $eR E?

B,Q,D,O,F, ..., ...K,J

1) G,P (2) H, K B M, G (4) M, H

26. wAfFaal & frdt Oug ¥ %o G #1 3/8 TEW €, 39 qEul ¥ 2/3 %1 e it € ARk A Al
H 9 34w e g € A SH W A1 e o G wfgenst w1 @ ol onw o i ©?
1) 1/8 (2) 3/16 ) 1/4 (4) 5/16
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16.

17.

18.

19.

A car dealer who gives a 20% discount to a customer on the list price of a car still realizes a net
profit of 25% of cost. If the dealer's cost is 34,80,000, what is the list price of the car?
(1) %6,00,000 (2) %6,18,000 (3) %7,20,000 (4) %7,50,000

If the ratio of women to men in a meeting is 4 to 1, what percent of the persons in the meeting
are men?

(1) 20% (2) 25% (3) 33%% (4) 80%
10 percent of 7% percent of 3200 is
(1) 24 (2) 240 (3) 25 (4) 250

A is B's sister, C is B's mother, D is C's father and E is D's mother. How is A related to D?
(1) Grandfather (2) Grandmother (3) Daughter (4) Granddaughter

Directions (Questions 20-23). Read the following information carefully to answer these questions.

Three children are stringing 11 different coloured beads on a string.

Of the 11, four are yellow, three are red, two are blue and two are green.
The red beads are adjacent to one another

The blue beads are adjacent to one another

The green beads are not adjacent to one another

A red bead is at one end of the string and a green bead is at the other end.

20.

21.

22,

23.

24,

25.

26.

If the sixth and seventh beads are blue and the tenth bead is red, which of the following must be
true?

(1) The second bead is green. (2) The fifth bead is yellow.

(3) The eighth bead is green. (4) A green bead is next to a yellow bead.

If the four yellow beads are next to each other, and if the tenth bead is yellow, which of the
following beads must be blue?
(1) The fourth (2) The fifth (3) The sixth (4) The seventh

If the fifth and sixth beads are blue and the ninth bead is red, which of the following must be
true?

(1) One of the green beads is next to a blue bead.

(2) One of the red beads is next to a green bead.

(3) Each yellow bead is next to at least one other yellow bead.

(4) The second bead is yellow.

If one green bead is next to a red bead and the other green bead is next to a blue bead, which of
the following must be true?

(1) The second bead is blue. (2) The fourth bead is green.

(3) The fourth bead is yellow. (4) The seventh bead is yellow.
Solve

(288.5 x 30) — (30 x 288) — (28 x 15.5) + (15%x 28) = ....cevvuvn..

(1) 14 21 (3) 12 (4) 430.5
What are the letters missing from the following sequence of letters?

B,QD,O,F, .. ....K

1) G,P 2 H, K 3 M, G (4) M,H

In a certain group of people, 3/8 of the total number are men, 2/3 of the men have brown eyes. If
3/4 of the people have brown eyes, then what fraction of the group are women who do not have
brown eyes?

(1) 1/8 (2) 3/16 (3) 1/4 (4) 5/16
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217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

J= & T gEen ¥ @ell M W S-S ge sait?
1,1,2,8, ..., 1024, 32768

1) 16 (2) 64 (3) 256 (4) 20
el Fotd 1 93 & I Ht 28 IR TN AT MU 37 93k § ferad e 3ufted o2
1) 14 27 3)9 (4) 8

g SR T HY AEd 31 22 99 off 5 5 96 Yeed ST Wl g offl AfE e i 9 1 Th
92 T A 3@ IRER HT igd g ferat @2
(1) 19 ad (2) 259§ (3) 27 =& (4) 28.5 9d

feu U TEnfem 7 afg

Bk

<>
s

fiFed =R

frez fareray e et
A BERR 9 fhd T&qd Har 7?2

(1) Afgel fhed R %1 Th 8

(2) fthew ®R &1 T TgE S A d fhehe 3R 7 Tiew foere! €

(3) Hfgen fhed ©R #1 Tk TUg W 7 @ fopehe 3R 7 e Sord &
(4) T 9 HE Tl

ffiehell ¥ HITT & TAN &I Teheileh 9RA | 7Y =1 992 & 999 9§ J9ad | off| qafy awa o
U] fRT T RIS & Fod [ T O @ 124 9 dHelt T et & € SR <o wRa A s
M | I T IMeI0 IR H fRE USIEw 1 ImEA or?

(1) ¥ (2) =R (3) wifezm (4) =
IAgH ¥ 1A Ghd H a8 Y g T3 €
(1) TEE (2) HRT9RA OEZEE (4) AFTEd YR

184 TE & STUE SN 194 TE &% SARH § QW o Giitdw 9 fSeht T A I 918 o i
Griid & TEn S g Fedt €1 3 ¥ Tk Gd Hid At SR gE vy e 9 R i
HH 4?2

(1) T TH (2) gereart it (3) A& hid (4) 9o e

A § T S el arelt ‘wifem’ T 1w gfess s iafafy 71 97 fhe g | tEn W
foemdt @7

(1) #er (2) 9f¥=m e (3) = (4) 95ma
FATRY & ST ‘TR |’ W frefafed § 9 sia-w 5 wie fhen snafia oft?
(1) ¥ JEare (2) Sfeit (3) Tl (4) g
3TEUT hICTARY i il Uit ‘SIS’ Th % AW ¥ gefud 2l

(1) ®a (2) SR (3) e (4) TR
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217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

What is the missing number in the following series?
1,1,2,8,...,1024, 32768
(1) 16 (2) 64 (3) 256 (4) 20

During a club meeting, a total of 28 handshakes were made. How many members were present in
the meeting?
(1) 14 27 39 4)8

The average age of husband and wife was 22 years, when they were married 5 years back. What
is the present average age of the family if they have a 3 year old son?
(1) 19 years (2) 25 years (3) 27 years (4) 28.5 years

If in the given diagram

>
o

Film stars
Then, what does the shaded portion depict?

(1) A group of female film stars

(2) A group of film stars who are neither cricketers nor golfers
(3) A group of female film stars who neither play cricket nor golf
(4) None of these

Cricketers Golfers

The technique of executing sculptures in bronze was known in India since the time of the Indus
Valley Civilisation. However the most sought-after bronzes from India date between 9" and 12"
centuries AD and were made in South India. Which dynasty of kings ruled South India at that
time?

(1) Maurya (2) Chera (3) Pandian (4) Chola

The oldest text in Sanskrit known to us today is
(1) Ramayana. (2) Mahabharata. (3) Rig Veda. (4) Bhagwat Puran.

In the late 18" and early 19™ centuries there were three musicians whose work more or less
defines the contours of Carnatic music thereafter. One was the saint poet Tyagaraja, the second
was Syama Sastri. Who was the third?

(1) Purandara Dasa (2) Muthuswami Dikskitar

(3) Arunachala Kavi (4) Papanasam Sivan

In India, there is a collective physical activity with dance like movements called ‘lezim’. In
which state would you expect to see this performed?
(1) Maharashtra (2) West Bengal (3) Kerala (4) Punjab

Flaubert's novel ‘“Madame Bovary’ was adapted into a Hindi feature film by the name of
(1) Maya Memsaab (2) Julie (3) Charulata (4) Sujata

‘Jejuri’, Arun Kolatkar's poetry sequence, refers to the name of a .
(1) flower (2) animal (3) deity (4) town
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37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

e Tor gt @1 ™ fre wifefas sngem o SEr 82

(1) f Femdifasy (2) de S (3) AHifew Hawe (4) T SHRM

fha gegfa o ‘wHe’ TS Afgar IRUM o1 fauiv 9 gead A IR R e 872
(1) srafEn (2) sret (3) wforgd (4) +fra

‘it 31T Sy’ fohe oiash &1 STCHHUTHS ST &7
(1) sFw 2fue (2) St Hleh (3) T faer (4) fafem ®iw=R

o forem o1 Ofe o1 wifsser a1ef ‘S wefen’ (dem) @2
(1) wre dfen (2) it dfen (3) et dfen (4) =ifaer dfen

3TSiaT &1 T Ufen H fova & STerT-STen 9§ VR (Wh) TRIKH Al T | AAlsios. BRY o
A T T AR R 11 % s #72
(1) <= (2) frem (3) &1 (4) dten

frefafed § 9 99 fased T @9 319 1 T 59 © 3 T fashey 379 fa=1 81 o8 fashed shia-a1
??

(1) H=gEt (2) waTEEA (3) F&FTH (4) =foTgd

% T Tk AW Wik THT § S, Herdl, SR SR HITST Hh Seoid HEAT 8 dl 98 FHT =
gm?

(1) dfem (2) e (3) ST (4) FRHE

TH W % ®9 H T 6T SH % fo e fegeamt @iiid & sfaerm o semgd g & H Iw
BT B frefafed § @ ffg wolR A 39 Wey ¥ Tl IR A wefa § efi?

(1) fama @ (2) arEA (3) 9 AW Tl @i (4) HEA SHel
‘FeHEl’ W 1 ey fEfatead § 9 fead 22

(1) gored &t g Ffvem dfa (2) ®eH T H B HB F=a dwAenl
(3) =&l &t wy M=a feem (4) Hfdieren w1 w5 Ffea Hial

‘eer’ g gid 99 #1 w98 wWEY 7?2
(1) <on (2) faar (3) =gl (4) wrETE

Fefafed o 9 ford 59 9 g8 & 999 § 980l R i Al g Y@ ST S 1 A9 Jaed
27
(1) weRE (2) afe=m s (3) ITES (4) wieh

frefefed & 9 SFE-91 T8 9 % ThEeE o @ Ser 82
(1) sew fharsTent (2) ISR 3T (3) TR HIHTE (4) TTE®T TR

‘Y I’ &% AT i A fRE dEE T R e

(1) YRR FqeAE  (2) dREieRR seqreAE  (3) IR suaeaE (4) Hfreferer T

frfefaa & 9 =F % gafes fhersr T 2?2
(1) 3 e (2) T9 geRd (3) 3] YeaEH (4) o < <
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37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

The poet Allen Ginsberg is associated with which literary movement?
(1) Neoclassicism (2) Beat Generation
(3) Romantic Movement (4) Hungry Generation

Which culture is mostly associated with special element of female dress called ‘Phanek’?

(1) Assamese (2) Bodo (3) Manipuri (4) Bhil
“Tropic of Capricorn’ is an autobiographical novel, written by which writer?

(1) Ernest Hemingway (2) Jack Kerouac

(3) Henri Miller (4) William Faulkner

Which type of painting literally means ‘wax writing’?

(1) Phad painting (2) Tanjore painting

(3) Kalamkari painting (4) Batik painting

In the cave paintings of Ajanta, the various pigments were procured from different parts of the
world. Lapis lazuli was obtained from Persia. What is the colour of the Lapis lazuli pigment?
(1) Red (2) Blue (3) Green (4) Yellow

Which is the odd one out in this list of dance forms?
(1) Kuchipudi (2) Bharatanatyam (3) Yakshagana (4) Manipuri

If we were to refer to Jaunpur, Malwa, Deccan and Kangra in a common cultural context then
what would this context be?
(1) Painting (2) Sculpture (3) Architecture (4) Pottery

The Khayal as a form in which to present a raaga is a relatively recent development in the history
of Hindustani Music. This method of presentation was first sung by which of the following
individuals?

(1) Niyamat Khan (2) Tansen

(3) Bade Ghulam Ali Khan (4) Bhimsen Joshi

With what would you associate the word “Kalamkari’ (or ‘galamkari’)?

(1) Certain methods of calligraphy (2) Certain techniques of pen making
(3) Certain kinds of textiles (4) Certain pieces of sculpture

The “surbahar’ is a larger version of which musical instrument?
(1) Veena (2) Sitar (3) Flute (4) Shehnai

The blowing of a conch shell by the lady of the house before the morning meal is an activity that
is widespread in which of the following states?

(1) Maharashtra (2) West Bengal (3) Uttarakhand (4) Karnataka
Which of the names below is associated with Japanese animation cinema?

(1) Hayao Miyazaki  (2) Yasujiro Ozu (3) Akira Kurosawa  (4) Haruki Murakami
‘“Byomkesh Bakshi’s’’ character was created by which writer?

(1) Sharatchandra Chattopadhyay (2) Tarashankar Bandyopadhyay

(3) Sharadindu Bandyopadhyay (4) Maithili Sharan Gupt

Who among the following is not known to be a documentary filmmaker?

(1) Harisadhan Dasgupta (2) S. Sukhdev

(3) Anand Patwardhan (4) V.G. Damle
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INSTRUCTIONS TO CANDIDATE / uitetrelt & feta e1esr

N

©ooNOOA®

12.

13.
14,

15.
16.
17.

18.
. Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

© ©o N o g~ wDdE

11.
12.

13.
14.

15.
16.
17.

18.
19.

Please do not open this Question Booklet until asked to do so.

Fill up the necessary information in the space provided on the cover of Question Booklet and the OMR Answer-Sheet
before commencement of the test.

The duration of the complete test (Part-1 & Part-11) is 180 minutes.

Please check for completeness of the Question Booklet immediately after opening.

There are 50 objective type questions to be attempted.

In case of any ambiguity in translation, the English version will be deemed authentic.

Each question has four answer options marked (1), (2), (3) and (4).

Obijective type Answers are to be marked on the OMR Answer-Sheet, which is provided separately.

Choose the most appropriate answer option and darken the circle/oval completely, corresponding to (1), (2), (3) or (4)
against the relevant question number.

. Use only Ball Point Pen to darken the circle/oval for answering.
11.

Please do not darken more than one circle/oval against any question, as scanner will read such marking as wrong
answer.

Once a/an circle/oval is darkened as answer to the question, it is final. Answer option once darkened cannot be
changed.

All objective type questions carry equal marks. There is no negative marking.

Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be provided/used for Rough
Work.

Calculator, Mobile, etc., are not permitted inside the examination hall.
Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this
Question Booklet or part of it outside the examination hall.

The right to exclude any question(s) from final evaluation rests with the testing authority.

& T el T A 3H U9 YR i A @i

el IE TH W TR Y YRR qU1 STHAR. IW-TFF b R0 W fEF T WH W AEvId I W

en 1 el WA (W] R Al % fe) 180 fiee R

e-GfEehT BieH & 0 9% S w o R ge-giae g 2

o e 50 aETS U & TR T e R

fE e ¥ wIE sreusedr &, d SAUSH Ui el Wl S|

T U9 % S % Ty =R faeed @ 59 W (1), (2), (3) R (4) sifera B

TS T & IW A ¥ T T SNTH.SMR. IW-T9F W 3ifehad

gaﬁwgﬁwiﬁamwﬁuﬁwa%vmﬁﬁﬁﬂﬁwﬁwaﬁm(1),(2),(3)211(4)3%%/&’@@&135#@6@
HTE H

I H & foau meysTemia w Fen w0 & AU Rad @rer uige U H qE W

et e & TE Th 9 ARk Tiel/sieTsRid i el 7 Y, i Th SH I i e S 9e

T R Tel/3AeTRid ol U9 & S| & ®9 § 3ifehd X ko o0 dt gz Afam ghm S fashew T aR sifeha W & 9] a_an

& ST Wkl

At TS Ul & WA ik ¥ HUMHE R TE

IfE IS edl HH HE B o I8 helel T Yikdsh W e w1 el B b fow i e § whe e & wnwi/gE § T erh

Sicuifl

hoeelet, HiaTgel 3t Them efct & 3T of WM &t rwfa T=&f 2

sTfea WAl &1 gA w aret wanef w1 s sg femn smem

39 Te-Yfaent a1 3O foRE 9mT ol wdien B W 9l | 9H A A S R HIRT FE aret wanedf w wdaneff-uma # w3

FA F A U foeg TfEa Farl/BISER wERET | ST

sifem qeaish | fet we 1 fRia < 1 R e Wit % @ ® 2

e g | fRdt off a%g W S oreies § TR 7 Al 3T foe® w1 g &l

This Question Booklet and OMR Answer Sheet are to be returned on completion of the test.

T T EF U 9E U9 YRaeht q97 .3, SH-UNeh wieT <

11/CIXVIHII 12



